Corrections CM2

3p38
0 o 1 s
g ! ' ' ' ' ' ' 3 ' ' ' ' ' '
6 0 1 40 1 2
5 b : : : : ! : 5 b : t : } : :
so ] 0o
6 ' ' ' ' ' ' 8 ' ' ' ' ' ' ' ' ' '
4p39
T2 3 4 8 i 13 15
0 5 5 5 5 5 5 5 5
] T T T T _i T T T T j T T T T é T T T
3p4l
24 40 24
— =8 car 3x8 = 24 — =4 car 10x4 = 40 — =4 car 6x4 = 24
3 10 6
12 42 64
?=2car6x2=12 7=6car7x6=42 §=8car8x8=64
12 30 72
7=6car2x6=12 ?=6car5x6=30 ?=8car9x8=72
54 32 54
?=6car9x6=54 T=80ar4x8=32 ?=9car6x9=54
4p41
3 6 7 3
Z<1estvrai §>1estvrai §>1estfaux — < 1 est faux
11>1 t i 1 1 est f 4-<1 t f 3<1 t i
10 est vrai > > 1 est faux 2 est faux z est vrai
3p43
14_12+2_4+ 38_35+3_5+3 19_18+1_9+1
37 3 3 7 7 7777 2 2 2 72
12_7+5_1+ 23_20 3_5 3 21_20+1_5+
777 T -2 T3T>T: 4~ 4 4
22 20 2_4 2 34_27+7_3+7 40_5
557574 s 99 "9 "' 8
17_16+1_2+1 18_15 3_3 3 42_40+2_8+
8 8 8 T-5t57° s 555"
8p4l
1<6<2 3<13<4 4<25<5 0<3<1 1<6<2 5<36<6
5 4 6 7 4 7
2 40 9



